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Friction
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Write definition of friction coefficient and friction angle.
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What is known as friction? What is the meaning o s tic and kinetic friction?
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What is the of kinetic friction coefficient? Explain.
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A block of 2 kg mass is placed on the floor. Static friction coefficient is 0.4. A

force F of 2.5 Newton is applied on block according to the figure.

(i) Find the friction force between block and floor.

(ii) Find the minimum required force to move the block. (g = 9.8 m/sec?)
&a1 (i)gﬁﬂmﬁ,m=2mﬂmﬁfﬂ$m§m My =04

Y # ed W sfena dfalma, R =mg



) R =2 f¥m x 9.8 /A2 - 196 =z

3. W (sHfern) oo sbm aw, £, - LR =04 x 19.6 72 = 7.84 T2
uﬁwmﬁam,rh—-z.sw{aﬂﬁﬁ A %0 &1 9 78 T F ¥ =l A T o o
TH T T § A (g wm aw wda smfm aw ¥ a8

T WER, wdoT A 2.5 =g

rinmaﬁnﬁﬁ%mwmmm,p:(p-p)=(7.ss-z.5)~- 3

5. = wor & fraw frfay
| Write the laws of terminal friction. Q
g W0 F w7 ek A vk e 2016)
State the laws of friction. Q
FaX W wfor & Praw e s % Frw et s #

(i) Hmr= ( stfershan) oo oo e @1 gfvam, Tk Hom 39 I (Fm

A7) W fasl Fa d1 77 @ ¥ smER st 7 T Fan
(it) f& §Q 7o ¥ fow, wrfor et wrvch-aell 3 weRdr ) Fren & A 35 fom,
39 fewn & favdia @t @ fomly e wem F o ({

(i) 2 g 7t % forw, diom S w0 w791 £ R F FTHaATE g 2
. fs =R s MR

STel, Wﬁﬁqﬁﬁ?ps ED| 'm%wefﬁciem of static fﬂaion)m%:

ST ¥ FaA a9 @) e & 99 f, FLAA (Har=) q 399 TS £, < R,

HA: W ®Y R f, <y (R
6. def® a1 dca udvr a9 @ | 7 ot UTS B FEAET
What is the meaning ofi r friction? Describe the rolling friction

coefficient.
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According to the figure 7.3, a force F = 0.1 kg is applied on the block A. The
pulley and rope are of negligible weights and the surface of the table is
smooth. Find the acceleration of block A. The mass of each block is 2 kg.
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A solid sphere of mass ‘M’ and radius ° iding downwards from the flat

surface which is inclined at an angle 6. Show that its linear acceleration on
surface isa = ; gsin6.
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A block of 10 kg is sliding on the interconnected inclined surface, which
inclined at an angle of 30° from the horizontal. Find the acceleration of
block. The kinetic friction coefficient between block and surface is 0.5.
(g =98 m/sec?)
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Differentiate between st kinetic friction. Define terminal friction

coefficient. . (UPBTE 2012)
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Define static and kinetic friction. A block of 2 kg is placed on horizontal
plane. The static and kinetic friction coefficients between block and plane

are 0.15 and 0.12 respectively. Evaluate

(i) Minimum horizontal force to give motion to block.

(i) Required horizontal force to drive a block with uniform acceleration of
0.8 m/s?. (g = 10 m/s?)
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Write the laws of friction. T to slide on the rough surface which is
inclined at 45°, a mass w&l'\ake n times more time in comparision to
uniform smooth plane.
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A body havi ss ‘m’ comes downward with uniform velocity on
accumbent e.at 60° angle from horizontal. Find the friction coefficient
between incli plane and body.
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